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Base your answers on what you studied in | sLo¥13500 -2 Cew)s Lo s gid -2

Biology: s AGY AN e coni
1- Choose (A) or (B) then, @ () 9l (1) o 13t iyl - )
Write the scientific term: fdule J1A01 alat allaiael ) SO

(A) A triangular dorsal bone, its inner end | (ga b Jsatl %o & pels Aatae (1)
is broad while the outer end is pointed | .uis o jlally s e A3 11

(B) A thin protein filaments form the light. | 42, &edg = dog—s (@)

band in muscle fibre. R Lol yo! B (9SS
JAliaall Zat)

2- Choose (A) or (B) then, What do you know about: | (&) gi (1) ottt g—udt dsi jisnt =¥
(A) Breeding s (e 4Byl Le pS31 @D
ket a1 (1)
bl B O Ewet ! ()

(B) The Receptors in plant
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3- Choose (A) or (B) then, Mention the site | () g (1) ol imudt dsi 50 =¥
and the function of: : Aads gt g OISal) S @3
(A) Conjugation tube OB NIELE (1)
(B) The endosperm nucleus s g3 W1 313 ()
Site=] . 2  — - NTFT e
Ol — ' e
Function |
Aads off T : s
4- Choose the correct answer: + dadd Asvouall dala W)y - ¢
In Stage of spermatogenesis the number | 4 gced! SLilgom ) (4 g5 £ Lis]
of chromosomes decreased to half during | I obawallsae 2 J15s ) Gas
................................. Ao po (B il
@ Multiplication phase e Lt @
@ The growth phase .3 @
@ Maturation phase ead @
@ Metamorphosis phase L Algad ! s @
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5- Give reason: s Me -0
The spleen plays an important role in o2 Lags Lo Jlomdatl coaly
the body’s immunity. seund) delie

6- What would happen if.............. 2 § eeee e Sodoma 1300 =1

A piece of chromosome is separated | sLal pawall (o dakad Jlad|
from it during cell division and rotates | )'dies lgwdd Jg aliy pluds¥|
180° around itself and rejoin the same | past b Lgal=ill slay @3 “VA:
chromosome again in an inverted position. sl pudh e crglaed!

[4]
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7- Study the given figure then, answer the (ST IS (quyal -V
question: ¢ AGY Al (e el @d

(1) (1) OLed 1A i Lo 381 ¥

1: Write what do numbers (1) & (2) point to? )
(V) ) oS 5! s S = LalS

2": How does the structure no. (1) reach §(¥) @8y oS3
to no. (3)? I3 13 55 g0 paadi o ¢ LI
31: When morula is implanted in structure (3)? () el S A
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8- Compare between: Myxodema & 0249 Lo guSialt 4o et (i (1B A
Diabetes mellitus (concerning: the eidl) G (o (S St Jgd!
reason — symptoms) (pa15e¥1y

. Myxodema Diabetes mellitus

concerning y i

Losa gusicatt o p0 oSl J ol o p0
thereason | ... .. ... BT \ I3 ) e S
et |
symptoms
By (T B

[6]
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9- Apolypeptide chain consists of the
following amino acid in the following
order:

Methionine - Glycine - Asparagine - Valine -
Threonine

The codons of some amino acids were as the
following:

e 09550 Wi dade Al -4
ole AT Acw¥ (oles¥
t Qo
— Qe M — (p0 s
0920 — o1 — G !
U2l dwold) Ol ga oSt CalSy
: LIS AW (oles VI

(920 O blew! | Grun S odle (0 9o Ot 9 25
Threonine | Asparagine | Glycine Valine Methionine | Tyrosine
ACC AAU GGG GUG AUG UAU

1*: Write the sequence of mRNA which used
to synthesis the previous polypeptide
chain including one of the stop codon.

2": How many tRNA types which used to
translate that sequence?

39: How many RNA polymerase enzymes in
eukaryotes?

Sle g gall alids gsw:;r,i
a>i Lieate mMRNA sgja
085 gl adglt Sligags
Ebad ) bl e dlad
wousiwed | tRNA ol ja e Lo
st de¥l paleadl i b
Skl widdt ue

o RNA S ool Slag i1 sue Lo -
Hgsidl polea¥l pul pga
$519d) Glidd (2 4 !

Lats

(i (]
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10- Choose (A) or (B) then, give reason:

(A) The cartilages get food and oxygen
from the bone cells by diffusion.
(B) the skeletal muscles and cardiac

muscles are called striated muscles

11- Choose the correct answer:

histamines are secreted by specific
cells like

..............

() 31 (1) oottt cmi pr =Y
e @
S ¥ 101 e i jliaadl i (1)
LA YL allaall L (e
O aally ddSigh | OMaall o (©)
cadalad ot O aatl acdal!

¢ daZd Aomiouall Agla W1 52 = )

dala ) ald ‘“_,;Z..H dawaddiad! LT

. - f
............... "b U.A.ﬁ

®O06

mast cells and monocytes
neutrophil and monocytes
neutrophil and basophils

mast cells and basophils

313301 B g LSy 2 el LSS
B B g LT T g Alalaiiad | LT
ouelal slacd i addt LS g Alalaiad | LS

.%MW‘;WW.\J‘QM&} A lal LM

@
@
®
©

12- Write the scientific term:

A muscular tube starts from the cervix to
the genital opening in human female

ol JIAN palal pllaaal| LGS -\ Y
@ Gie (e 1 Aline 3L
g's adolin asfally o gliidy

OLuo ¥ 5
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13- What is meant by: S S ,OSd JomT s 3 guaiialile -\ Y
bacterial transformation?

14- Write the scientific term: t ole JIA elal mllaiaad| LGS <) €

Proteins which suppress or inhibit the | &lsiwd S 5lda i oliig o
immune response or stop it, therefore, | cadgiid Lglaad o dualial!
plasma cells will stop producing antibodies | :ye ace3 St il LS|

Baliaad alua ¥ 2L

15- How many chromosomal sets in each | §... 50 S b diual Glogaanall s ba =10

of the following: 3393 (o2 S ptl Hetatl: ¥y
a) Ookinete in plasmodium life cycle. Ly Satl 933 905 M Bl
b) Spermatids in human testis. 2 Angiatiaida Y Lol

OLad ¥ dcas

[9]
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16- Choose (A) or (B) then, compare between: | (@) of (1) o3t dni 251 -1
(A) Monocytes & the fixed macrophages. o B e
(B) Cytokines proteins & Interferon proteins LSl 319l By LUSII(1)

( concerning: the immune function) R el
Clicig jg Lo gioead 1 Sledig o ()
Ao g Coom (po Gl g o oY

NEWSTRT
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17- Mention the site of secretion and
function of each:

1. Growth hormone
1. ADH hormone

s
1 (0 JS Aadagg 1,21 HlSa ,SDI VY
gadl Hga }{9;‘

function

1. Growth |
hormone

$odl Oga o

i ADH |

hormone

ADH yge 50
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18- Study the given figure then, answer: (LI S uyal =V A
I : Mention the type of bond and their PG AU pe “’"f‘:’
numbers between each of: Aayi g 93 30 W
%:A&T PO dS O ey
nC&G TyA
2" How do the nucleotide joined together G,C-v
in DNA strand? 5 1S g das 5 S + Lol
SDNA dau i b paad Lguanss
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19- Choose (A) or (B) then,
Write the scientific term:

(A) The total number of human genes.

(B) A cluster of mRNA with many
ribosomes attached to it and
transcribing its message as they
move along the mRNA.

@ (@) 91 (1) o gt i 30 =14
¢ dle 1A alall pllacaad) CCS)
Obas ¥ 53 St ALaISI 1 e ganad | (1)
se 4y Juais MRNA sgja (0)
Ln S o2 5% Clagug 11 (pa
MMRNA e 659 yos Lu 3

20- Choose (A) or (B) then,
mention the importance of it:

(A) A foramen magnum
(B) Tendrils of pea

(@) 91 (1) 15t i pisnl =Y
¢ dcad| i g @
S a3 (1)

SYHLIIOLS B Bt (o)

21- Choose (A) or (B) then, explain:

(A) Some plants and animals species can
breed in an alternation of generations

(B) Millions of sperms are required to
penetrate the ovum.

(@) 91 (1) o3t i pisnt =¥
AGLAY 193 (yany 5503 (1)
P e gty
Sl ¥ cdlas ddawlg
o iy g1 31y e i ()
S gl OB gt (o (Sl
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22- What would happen if.............. 2 § eeen e Sidony 13Le =YY

Spraying the stigma with the extract of | uge ZoMsu Jaj¥ eules i)
pollen grains powder in ether solution. | . st 33,5 wgdactipLatl|

23- Choose the correct answer: + Jadd Aseouall Wila W1 sl =YY
= k4
All the following are from barriers which | j=/3>31 ps 5l Las S-S
represent the first line of defense in the | glaadl das Jies 31 dclaat
body execept........... | L. e Jg¥!
@ Tears ggantl @
@ Saliva olalt @
@ Inflammation response olgI YU Dlmiw Y @
@ Hydrochloric acid in stomach Buaetly il 9IS g gl e @
24- How do scientists use recombinant (0 s lalat) (Sl 2 S -Y¢
DNA to obtain a strain of fruit flies DNA L stgiSS Al
their offspring with ruby-red eyes? A30s ZLG) 8 AIY) Mlae
CgdLdl Gt Aao gy AeS2
Sorall yo ¥
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25- The following sequence represents the | ccd )5 pudgy L aald) - Y0
arrangement of nitrogenous bases on a | Lo d i g ,lidl do g3l

DNA strand:

DNA glan o

- AR TAC GGG GAT GGC TTAACT .....5"

1. Write the sequence of nucleotides in
transcribed mRNA? and what is the
name of used enzyme?

ii. Name the nucleotides sequence on DNA
which atached with the priveous enzyme
to start DNA transcription process.

26- Draw a labelled diagram for the
structure of human vertebra

B Ol glS gl il ;,:su;r,i
o #guiadl MRNA g5
Spiiiwel| @33 ¥ qul Lag

gl e gLl Bl : Lals
DNA e olabg Syl
Golaad| @93 dy dad o gl
SDNA s ddae lut

A9lSg dadd muw b mudy - Y1
Aalic 3,38 oS5 CLLYI
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27- “study the given figure * then, answer LI S uyal =YV
the following questions: s AGY) AW e ol @
1. What does this figure represent? SUSat ddde Juo g Lo ¥yl

1i. Number (1) points to which type of shaatl muant g g9 Lo ¢ Lol
antibody? $(1) @B Ay HLaed
iii. What is the functional adaptation of

Wt g dae St Lo : Lt
this type of antibody?

Shakiaalf alua W1 (e g 4il gt

((Q-w1ja i 1lJ@ig o
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28- Choose (A) or (B) then, give reasons: (@) 91 (1) G5t i 5l = YA
(A) The corpus luteum degenerates before rdle@
the fourth month of pregnancy leads | pi i yeadl 18 yas ¥ @uat! Y (1)
to abortion? ool Y1 N g3 ol (ya
(B) The embryo is connected with the | dauwlg deiadl Guisd! Juals (o)
placenta? (il Jumt
29- Choose the correct answer: + dadd Aovouall Al ¥ i) - Y4
B- cells are formed inthe ................... | ..... 2 B aslar s c_uﬁ
(@)  Thymus gland Awgectizaatl (1)
@ Bone marrow plaalfels @
@ Spleen Jlmtat @
@ Tonsils Ol @
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30- What would happen when release of § e e Oy 13Le =Y

neuroc.hemlc-al trz.lnsmltters from the s g ot Bl 81531 3y
synaptic vesicles in the synapse? . .
Aduasl | Glilgdl 83 g gl

31- Write the scientific term: 1 ole JIA Gelal mllaadd| CCST =Y

The pollen grains are transported from the | <lis (yo Flald G g JLEZI
flower anther of a plant to the stigma of | 5,2} e ! Olo e 50)
another plant of the same species. £9) Ludh (pa 3T OLo e

32- What is the role of gastrin hormones? | ayasas gl youtf Ladg -VY
S0 ruldt G 9a 50
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33- Write the scientific term: 1 ole I elal| mllaaad| LCST -YY
The binding site between an antigen and | ole ¥ doliiyl a8 50
its specific antibody. lastt gt |

34- Choose (A) or (B) then, () 91 (1) ol gt i J251 -Y'E
compare between: 2 o (B @d
(A) Detoxifying enzymes & The s 55 g Aecacad 1 33 Sl 331 (1)

Deposition of gums 4 gaall

(B) primary immune response & Secondary | ads¥ ieliat daloia¥i (o)
immune response ( concerning the time | rya) a g3l due Liad Al ¥ g
needed for response — responded cells) Bl § picised| CA g

‘(W‘lﬁw‘j
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35- The given figure represents diagram Loy L1 ISl Jiian -YO

of mRNA, answer the following MRNA ¢ jd Ldadass
questions: P AGY ALY e coni S £ 95 B

1. To what number (4) point? What is its role? 0By | aiios 5t Lo s 35

1. What is the difference between Soy93 Leg §(%)
mRNA translation in prokaryotes and | . 5 Sy i M L s Lo

in eukaryotes? )
Gld gl (e JS ;2 MRNA

9313.1}‘&%5:-33‘3.’«!1

I

AUG UAG

36- Water play an important role in ferns’ | 3,92 8 Laga 1393 ¢ Ladt caaly =¥
life cycle. Explain that? S il g g | | Bl
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37- Choose (A) or (B) then,
Write the scientific term:

(A) Short stem with the leaves being
modified to various floral parts

(B) Hormone stimulates the ovum to

liberate from the Graffian follicle..

@ () 91 (1) o gl | 250 =YY

¢ dole JIul alatl pllaael! S|

O35 LgB )91 9o 8 pscid bl (1)
Aalisnadl d pa ) s ¥

sl AL 03,3 3% Ogara ()

Ay gl j g Bl das

38- Choose (A) or (B) then,
mention the importance:

(A) Deoxyribonuclease enzyme?

(B) Regulatory nonhistone proteins

39- Choose (A) or (B) then, give reason:

(A) Viruses show high rates of genetic
change.

(B) In DNA, the two nucleotide strands
of the DNA molecule had to run in
opposite directions

() 91 (1) ot imad |ty =YA
10393 g @

S 90505 S ga3 @3l (1)

BTy WELESAA (W% PR LY (W)
VA0 giug

() 91 (1) otV omadf i it =14
Lo
Jenn Sy s gty (1)
SETTUBVEIOYS-Jo
0552 DNA sgja Uanys (o)
M Sl puing 5 Ladia
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40- What would happen if.............. ? DINUUURR L P C S PR 20
Two mature ova are liberated from one A lg o (g (i g3 )y
ovary at the same time & The two ova are | Legis JS wlas |y Hlud ¥ SOy
fertilized with two sperms? B (e ($ 900 Ol g

41- Compare between: Al )9 (S AN g ¢ (i (g8 - €Y

Tissue culture & Parthenogenesis el pa Cogom (14 Apuusd T
concerning: the definition?
Tissue culture Parthenogenesis
dmud W Acl y) ERCR{IIPe]
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42- Choose the correct answer: |+ dadd dsvosuall dala Wi i) - Y
The development of the ovaries of | Olud ¥ (i 2 Ol (39S
human female embryo is completed | ... ¢t dulgh B

in the end of .......

@ 1* month ' Jo¥! @
(® 39 month | e ©
(© 5% month ‘ oelst

@ 7" month | gk ©)

43- Draw a labelled diagram for formation | SLL JolS @y sy - ¢V

of pollen grains starting with spore (ke (A1 A (33953 O gl
mother cell. ' (3Y) Asel Aragh p Al
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44- The given figure represents the
ligaments in knee joint , so answer:

1. What is the function of ligaments?
1. Write what numbers(1 & 2) point to?

ii1. In which side of the body the bones in
this figure found?

W y¥1 Clalol GO JSEH Sian - €
AS N Jmda b
P AGY ALY e caf ElD 6 00
Salay, ¥ dadsg Lo : Yol
OLed 3 ad| pcs Lo ,S31 : Ll
(M) ’
ol e ol (g B s Ll
L [P PP {
§JSATLy 33 92> g0
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45- Mention the role of enzymes in DNA | caclad 8 Oles %1 j9a e -£0
replication? ¢DNA ¢ s>
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